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The key is to use long division to solve each problem. 
 

(x2 + 4x + 6) ÷ (x + 2)  now looks like this  x + 2  x2 + 4x + 6 
      

Now just use long division to figure out the answer!      X + 3 

         x + 2  x2 + 5x + 6 

Now multiply x by the divisor and subtract:  x · x = x
2 
; x · 2 = 2x       - x

2
 + 2x 

           3x + 6 

Now multiply 3 by the divisor and subtract:  3 · x = 3x ; 3 · 2 = 6        - 3x + 6 

                 0 

 

Solve by dividing each term. 

 

8x
2
 + 6x + 2  ÷  x + 2  =  x + 2  8x

2
 + 6x + 2   

 
 
 
           
 
 
 
 
 
4x

2
 – 4x + 8  ÷  x + 2  =   

  
 
 
 
 
 
 
 
 
 


